

Republic of the Philippines Department of Health DR. JOSE FABELLA MEMORIAL HOSPITAL Manila



March 1, 2016

NOTICE OF AWARD NOA – 2016 – A – $|^{4}$

PENTAGON GAS CORPORATION

479-B E. Rodriguez Sr. Blvd., Cubao, Quezon City

Sir/Madam:

We are happy to inform you that the contract for the **SUPPLY AND DELIVERY OF MEDICAL GASES**, is hereby awarded to you as a result of public bidding conducted on February 4, 2016:

| ITEM | QTY. | UNIT COST | TOTAL COST |
|--|--------------------|-------------------|-----------------------|
| Medical Oxygen Gas, rebreathing | 6,540 | P 263.28/cylinder | P 1,721,851.20 |
| charged to 1,800 psi, in returnable container, 99.5% 5.3 cu.m. | cylinder | | |
| 2. Compressed Air, medical grade, standard size, steel by cylinder | 27,880 cylinder | 263.29/cylinder | 7,340,525.20 |
| 3. Nitrous Oxide, refill only, 50 lbs., good quality, fresh commercial stock | 9 cylinder | 6,500.00/cylinder | 58,500.00 |
| 4. Acetylene Gas, 50 lbs., good quality, fresh commercial stock | 12 cylinder | 836.00/cylinder | 10,032.00 |
| 5. Nitrogen Gas, 5.3 cu.m., good quality fresh stock | 4 cylinder | 666.00/cylinder | 2,664.00 |
| 6. Industrial Oxygen, standard size | 8 cu.m | 516.00/cylinder | 4,128.00 |
| 7. Nitrous Oxide, 5.25 kls./cyl. (small cylinder) | 4 cylinder | 6,666.00/cylinder | 26,664.00 |
| 8. Oxygen Gas, medical rebreathing (small cylinder/portable) | 4 cylinder | 246.00/cylinder | 984.00 |
| TOTAL | | | P <u>9,165,348.40</u> |

You are hereby requested to file your Performance Bond within ten (10) calendar days from receipt hereof in an amount equivalent to a percentage of the total contract price based on the schedule below:

| Form of Performance Security | Amount of Performance Security (Equal to Percentage of the Total Contract Price) | |
|--|--|--|
| a.) Cash, cashier's/manager's check, bank draft/guarantee confirmed by a Universal or Commercial Bank | | |
| b.) Irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank | Five percent (5%) | |
| c.) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security | Thirty percent (30%) | |
| d.) Any combination of the foregoing | Proportionate to share of form with respect to total amount of security | |

Failure to provide the performance security shall constitute sufficient ground for cancellation of the award and forfeiture of the bid security.

Please acknowledge agreement to the contents of this Notice of Award by signing under the word "Conforme" and return the original to us within two (2) days from receipt hereof.

Very truly yours,

Olm Mars. Enrile Chair, Bids and Awards Committee

APPROVED:

ESMERALDO T. ILEM, MD.

Medical Center Chief II

CONFORME:

IMELDA J/ E/LATA Printed Name and Signature General Manager

Date

Position

MTJB/lbp



Republic of the Philippines Department of Health

DR. JOSE FABELLA MEMORIAL HOSPITAL Lope de Vega St., Sta. Cruz, Manila Telephone nos. 734-55-61 to 65; 733-85-36 to 44



NOTICE TO PROCEED NTP - 2016 - A-13

March 23, 2016

PENTAGON GAS CORPORATION

No. 479-B E. Rodriguez Sr. Blvd., Cubao, Quezon City

Dear Sir/Madam:

Notice is hereby given to **PENTAGON GAS CORPORATION** that **Supply and Delivery** may proceed on the procurement of **MEDICAL GASES** effective upon receipt of Purchase Order.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below.

Very truly yours,

94 Hun

ESMERALDO T. ILEM, MD.

Medical Center Chief II

Cm

I acknowledge receipt of this Notice on March 23, 2016

Name of the Representative of the Bidder

INELDA J. EMATA

Authorized Signature

mtjb/lbp



Republic of the Philippines Department of Health

DR. JOSE FABELLA MEMORIAL HOSPITAL

Lope de Vega St., Sta. Cruz, Manila Telephone nos. 734-55-61 to 65; 733-85-36 to 44



BAC RESOLUTION No. -2016 - 4 - 13

WHEREAS, the Dr. Jose Fabella Memorial Hospital(DJFMH) advertised the Invitation to Apply for Eligibility and to Re-bid for the Supply and Delivery of Medical Gases in the newspaper of nationwide circulation, G-EPS and at a conspicuous place at the premises of the DJFMH continuously for seven(7) days;

WHEREAS, in response to said advertisements, only one company, Pentagon Gas Corporation, showed interest and attended the opening of bids conducted on February 4, 2016;

WHEREAS, lone bidder was declared Eligible and likewise passed preliminary examination of bids;

WHEREAS, result of Technical Working Group/End-users and BAC's evaluation are as follows:

| | ITEM/SPECIFICATION | BIDDER | BID OFFER | TWG |
|----|--|--------------|-------------------|-----------|
| | | DIDDER | DID OTT LIK | REMARKS |
| 1. | Medical Oxygen Gas, rebreathing charged to | Pentagon Gas | P 263.28/cylinder | Complying |
| ŀ | 1,800 psi, in returnable container, 99.5% 5.3 | Corporation | | |
| | cu.m. | | | |
| 2. | Compressed Air, medical grade, standard | Pentagon Gas | 263.29/cylinder | Complying |
| | size, steel by cylinder | Corporation | | |
| 3. | Nitrous Oxide, refill only, 50 lbs., good quality, | Pentagon Gas | 6,500.00/cylinder | Complying |
| | fresh commercial stock | Corporation | | |
| 4. | Acetylene Gas, 50 lbs., good quality, fresh | Pentagon Gas | 836.00/cylinder | Complying |
| | commercial stock | Corporation | | |
| 5. | Nitrogen Gas, 5.3 cu.m., good qualtiy fresh | Pentagon Gas | 666.00/cylinder | Complying |
| | stock | Corporation | | |
| 6. | Industrial Oxygen, standard size | Pentagon Gas | 516.00/cylinder | Complying |
| | | Corporation | | |
| 7. | Nitrous Oxide, 5.25 kls./cyl. (small cylinder) | Pentagon Gas | 6,666.00/cylinder | Complying |
| | | Corporation | 1 | |
| 8. | Oxygen Gas, medical rebreathing | Pentagon Gas | 246.00/cylinder | Complying |
| | (small cylinder/portable) | Corporation | | |

WHEREFORE, Upon careful examination, validation and verification of all the eligibility, technical and financial requirements submitted by Pentagon Gas Corporation its bid was found to be Responsive;

WHEREFORE, we, the Bids and Awards Committee resolved as it is hereby resolved to:

- a. Recommend award for the Supply and Delivery of Medical Gases to the Lone Complying and Responsive Bidder, Pentagon Gas Corporation;
- b. Recommend approval of this resolution by the Medical Center Chief II.

RESOLVED this 1st day of March, 2016 at the Dr. Jose Fabella Memorial Hospital.

The Bids and Awards Committee:

Uma ph. - & Gn. - ALMA MINA S. ENRILE

Chairman

(Financial and Management Officer II)

LO M. PEREZ, M.D.

(Medical Specialist III)

Member

(Chief Administrative Officer)

MA. CYNTHIA F. TAN, MD.

Provisional Member (Medical Specialist IV) Anzungi

LUZVIMINDA D. ZUNIGA

Provisional Member

(Midwifery School Principal II)

APPROVED:

ESMERALDO T. ILEM, MD.

Medical Center Chief II

MTJB/lbp